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1. The degree of the polynomial (—3/+5) is
(i) 2 (i) (-2) (i) 4 (iv) 0 (v) 1

2. The degree of the polynomial(2 2 -9 v—3)is

(i) 3 (ii) O (iii) 4 (iv) 2 (v) 1

3. The degree of the polynomial (—3u4+9u3—7u2) is

(i) 4 (i) 7 (ii) 3 (iv) 5 (v) 2

4. The degree of the polynomial (954—453 +552 +55-2)is

(i) 2 (ii) 6 (iii) 5 (iv) 4 (v) 3

5. Which of the following algebraic expressions is a constant polynomial?

(i) (—=6) (i) (—2¢°—qg*+4g>+8g%+4) (iii) (-9g-1) (iv) (5¢°—qg+3) (v) (¢°+8¢*°+7q-8)

6. Which of the following algebraic expressions is a linear polynomial?

(i) (5n=6) (i) (=3) (i) (=4n3=3n%+6n+1) (iv) (—=7n®+8n—8) (v) (4n°+6n*—n?-6n-9)

7. Which of the following algebraic expressions is a quadratic polynomial?

(i) (h2+2h=3) (i) (4h+8) (i) (A*+9A3+4h2=5h—6) (iv) (=4) (v) (5A3—2h2+8h-8)

8. Which of the following algebraic expressions is a cubic polynomial?

(i) 7 (i) Bw3+9w?—5w=2) (i) (8w+4) (iv) (=5wW*—4w3—4w?+2w+1) (v) (3wW2+w+3)

9. The value of the polynomial(=5r+2) at r=5is
(i) -25 (ii) -24 (iii) -22 (iv) -21 (v) -23

10. The value of the ponnomiaI(4v2 —v+8)at v=(-3)is

(i) 47 (ii) 49 (iii) 45 (iv) 46 (v) 48

11. The value of the polynomial(8x2 —6x+6)at x=(-2)is

(i) 53 (ii) 51 (iii) 49 (iv) 47 (v) 50

12. The value of the polynomial (6/4 =7/ +5/2+7i+9) at i=5is

(i) 3044 (ii) 3045 (iii) 3043 (iv) 3042 (v) 3047



13.

14.

15.

16.

Which of the following are true?

a) Zero of a polynomial and zero polynomial are synonymous

b) A linear polynomial in one variable has only one root

c) Zero of a polynomial is the value of the variable for which the polynomial value is zero
d) If (x - a) is a factor of f(x), then f(a) = 0

e) A polynomial of degree n has atmost n zeros

f) Zero of a polynomial and root of the polynomial are synonymous

g) If (x + a) is a factor of f(x), then f(a) = 0

(i) {a,b} (i) {g,c} (iii) {aef} (iv) {b,cdef} (v) {a,gd}

Which of the following are true?

a) A binomial may have degree 3
2. :
b) mr~is a monomial

c) Degree of zero polynomial is zero
d) A binomial has two and only two terms
e) Every polynomial is a binomial

(i) {ced} (i) {eb} (i) {c,ab} (iv) {ab,d} (v) {ca}

Which of the following are polynomials?
a) (x+y)

b) x+
X

(i) {c,d} (i) {b,a} (i) {a,d} (iv) {c.d,a} (v) {eb,a}

Which of the following are not polynomials?

a) (10x+5y)
b) (60x2 —80xy—55)2)

c (10x+5y)
(6x—11y)

d) x+-
X

e) 25x2

(i) {e,a,c} (ii) {b,d,c} (ii) {c,d} (iv) {a,c} (v) {b,d}



17. Which of the following are not polynomials?

a) Vx
b) (x+9y)
c) (x=10y)

d) 1002

1
2
e) 100x“ +
) 100 x2

(i) {d,b,a} (ii) {c,e} (i) {a,e} (iv) {b,a} (v) {c,e,a}

18. Which of the following are not polynomials?

a) (11x-11y)
b) (110x2 —33xy—77)2)

(10x+7y)
¢ (11x-11y)
d) vx

e) 25x2
(i) {eac} (i) {ac} (i) {b,d} (iv) {bd,c} (v) {cd}

19. Givenf(w)=(-5w-9) ,find f(0)
(i) -8 (ii) -10 (iii)) -9 (iv) -11 (v) -6

20. Givenf(k)=(—k?—5k+6),find £(2)

(i) -11 (i) -5 (i) -9 (iv) -8 (v) -7

21. Givenf(w)=(5w3—-5w?+2w),find f((-5))

(i) -759 (ii) -761 (iii) -757 (iv) -762 (v) -760

22. Givenf(t)=(-2t*-58+6t2—t+5),find f((-3))

(i) 36 (ii) 32 (iii) 35 (iv) 34 (v) 38



Assignment Key

1) (v) 2) (iv) 3) (i) 4) (iv) 5) (i) 6) (i)
7) (i) 8) (ii) 9) (v) 10) (i) 11) (v) 12) (i)
13) (iv) 14) (iv) 15) (iii) 16) (iii) 17) (iii) 18) (v)
19) (iii) 20) (iv) 21) (v) 22) (iii)
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